SH6EE

rEXHANR(TAHS)

HEAR | ZHRS FHAS ZHEEE(H)
7H6H B HEAAHYZTE—ILIN—T« 5,000
7A86H FE TBEHERCHESTH 5,000
7A8H E=$-1 BINSETHENBHMESBHES (MR BIHESD) 10,000
78118 B FLRLEFTHFERXZFIDOIN 5,000
7A11H =& SNEAAMEBEDNS 10,000
7HA12H| &% [mEFLE 2,367
7812H =& EREYIA—5 L2024 B S 6,000
78178 =& tEE KT EER G ESPREEZERARRE 8,000
7H18H E=-1 RRBAISEFmE IR I0EAFRESHEES - BHRE 12,000
7H20H EW AE=RETAERY 2,860
7H20H EW MREXEHNEEY 2,860
7822H E=-1 LEEEERDESHEESE 7,000
7822H E=-1 LEMSEREEBASEN6EESE TR 2,000
7822H E=- 1 LEMSEBREEBASENCEESE BIHES 2,000
7823H E=-1 LA RERRPRESBRE 6,000
7824H E=- 1 SHOCEETREEZLEBTHAERRBRE 5,000
7826H HH REBRBIR 2,145
7A31H B D=9 PN DIARRE 2,750
SF64ETH /Nt 95,982
FHXS i T HE&EE (M)
AREXEE 0 0
=& 10 68,000
B 6 20,615
FE 1 5,000
- 0 0
RESR 0 0
femE 1 2,367
IEIbEY)] 0 0
2R 0 0
=1 18 95,982




SIH6EE = HAREBGHA)

HEAR | ZHRS FHRNE ZHEEE(H)
8H4H B AEEREII N EAERSREN—T1— 5,000
8H7H B BAETEEAESSRE 2,860
8H8H =& SEEARFREE AT EA RIS TIAE EF- HURTEERELBRUER SRS 7,000
8A20H| EE=m¥E |MEHEFLIE 2,367
8A21H| EE=m%E [XEFLE 3,097
8A21H| EE=m%E |MEHEFLIE 2,860
8A21H| EE=m%E [XEFLE 2,860
8822H E=-1 LEEETRIFBARRES 5,000
8H23H B TILNZF OB 4,290
8H23H =& LEEETRESBHRS 10,000
88230 =& LETMEREEZESSIHEESE EIHESRD) 10,000
88230 =& AEBRAKEREERREBESSTSEESE BIHESR) 3,000
8H23H| HE B |GLARA—bO—2FDY 10,000
8H24H EW BEAEEFOYEERES 16,341
8824H HH FESRERSAFRESEYRUVEBRE 20,000
8H24H B SUXRNIN—T1—2024 5,000
8H26H| =M JOPARBMBEEFLE 3,140
8826H E=$- 1 LEHAEESSOEERE 12,000
8826H E=-1 LEHAEHMIE 2,000
8H27H =& SHCEELFEBEEMBEESRERERRES 4,000
8A27H| EE=m¥E |MEHEFLIE 6,650
8828H =& Yo ARB|EE SIS/ —T— 2,000

SF64E8 H /et 139,465

XX i T HI£EE(A)

AREXEE 0 0
=& 9 55,000
B 6 53,491
FE 0 0

e - B 1 10,000

RESR 0 0

femE 6 20,974

BT 0 0

2 RE 0 0
=1 22 139,465




SIH6EE = HAS QAR
XHEABR | ZHES FHRNE £ (M)
984H FE AETUNFEREECHETA 10,000
9H8H EW RHET N = 2,310
9811H B LEHFTEHFSERBEIBRE 2,310
SF6E9/7 Vet 14,620
FHXD i T &5 (M)
AREXEE 0 0
=& 0 0
B 2 4,620
FE 1 10,000
e - B 0 0
RESR 0 0
femE 0 0
ElREY 0 0
2 RIE 0 0
BEt 3 14.620




